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𝑌

  𝑌  𝑋𝑖  (𝑖 =  1, 2, … , 𝑛) 
𝑌  =  𝑓(𝑋1, 𝑋2, … ,  𝑋𝑛)  

  𝑋𝑖  𝑥𝑖  𝑢(𝑥𝑖)

 𝑌
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%  %  
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 𝑥  𝑛  𝑥1, 𝑥2, … ,  𝑥𝑛  𝑦 
𝑦1, 𝑦2, … , 𝑦𝑛  𝑦  𝑥 𝑦 = 𝑏𝑥 𝑏

 𝑥 ̄  𝑥𝑖 (𝑖 =  1, 2, … , 𝑛) 𝑦 ̅  𝑦𝑖 (𝑖 =  1, 2, … , 𝑛) 
𝑏 

∑(𝑥𝑖 − 𝑥)̄(𝑦𝑖 − 𝑦)̄𝑛
𝑖=1

∑(𝑥𝑖 − 𝑥)̄2𝑛
𝑖=1

∑𝑥𝑖𝑦𝑖
𝑛

𝑖=1
∑𝑥𝑖2

𝑛
𝑖=1

∑(𝑦𝑖 − 𝑦)̄2𝑛
𝑖=1𝑛 − 1

∑(𝑦𝑖 − 𝑏𝑥𝑖)2𝑛
𝑖=1 𝑛 − 1

∑(𝑦𝑖 − 𝑏𝑥𝑖)2𝑛
𝑖=1 𝑛 − 2

  



 

 

 

 

 
 
 

  



 

 

 

 

 

 
 
 

  



 

 

 

 

SI
 

 
 

  



JIS Z 

 

 
  



 𝑥𝑖 (𝑖 =  1, 2, … , 5)
  𝑦𝑖 ( 𝑥𝑖 , 𝑦𝑖 )  𝑥 

 𝑦  𝑦 = 𝑏𝑥 𝑏 
𝑥̄ 𝑦 ̄   𝑥𝑖   𝑦𝑖  

𝑦 ̄𝑥̄

∑𝑥𝑖𝑦𝑖
5

𝑖=1
∑𝑥𝑖2

5
𝑖=1

     ∑𝑦𝑖     5
𝑖=1

√∑𝑥𝑖2
5

𝑖=1

∑(𝑥𝑖 − 𝑥)̄(𝑦𝑖 − 𝑦)̄5
𝑖=1

∑𝑥𝑖2
5

𝑖=1

∑(𝑥𝑖 − 𝑥)̄(𝑦𝑖 − 𝑦)̄5
𝑖=1

∑(𝑥𝑖 − 𝑥)̄25
𝑖=1

 
 

  



 𝜂  𝑀  𝑦
 𝑦 = 𝛼 +  𝛽𝑀 +  𝜂 =  𝛽2 / 𝜎2  𝛼  𝑦 
𝛽   𝑦 𝜎2   

𝜂 𝑀  

𝜂  𝜎2 𝜎2  𝑀 
 

𝜂  

𝛽2 / 𝜎2  
 

𝜂 𝜂
 

 
 
 

  



 𝑀 
 𝑦

 𝛽a 𝛽b 𝛽c ≈

 𝑀  𝑦

 

𝛽a  > 𝛽b  𝜎a2 ≈  𝜎b2
 

 𝛽b  <  𝛽c 
 

 𝛽a  ≈  𝛽c 𝜎a2 <  𝜎c2
 

 𝛽a =  2𝛽b  𝜎a2 ≈  𝜎b2
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 𝑚  𝑛 
 𝑦 𝑦  |𝑦 − 𝑚| 

 𝐷 𝐷  𝑚 
 𝑦  𝑚 

 𝐿1  𝐿2  𝐿1 + 𝐿2  𝑛  𝐷 

𝐿1  𝐿2 

𝐿1  𝐿1 =  𝑘𝜎2 
 𝜎2 (𝑦 − 𝑚)2 𝑘  

 𝑛 |𝑦 − 𝑚|  𝐷 𝑚 
𝐿1  

 𝐷 |𝑦 − 𝑚| 𝐿1 
 

 𝑛 𝐷 
𝐿2  

 

𝑛 𝐷  𝐿1 + 𝐿2  
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